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No BT R HE HElniELE trL-134 t 9 L-137 EEE
Ba. kg Bg. kg Ba ke
1 HEHE R5.10.25 FEARLULM=1F () BRHEE9(<3.0) BHEE9(<3.6) BRHEEY
2 CitE=3=1:i) R5.10.23 [EARLULM=F () BRHEE9(<3.2) 29.9 30
3 L R5.10.24 FREARLWM=F (5% BREE9(<6.2) 9.68 9.7
4 KERHT R5.10.25 [RARLULM =T (FBER BREE3(<47) BRHET(<L3.6) - Janpcac N
5 WhEm R5.10.24 BEERLULM=T (FE% BREE9(<6.1) BRHE9(<6.5) - Janpcc
6 LWhEm R5.10.24 BEERLULM=T (FE% BREE3(<4.1) BRHET(<L3.8) - Janpcc N
7 2em™ R5.10.24 [BEARIGZSHT (EHh) BRHET(<28) BRHET(<3.3) BRHEY
8 SEENT R5.10.24 BRSO (EHh) BRHET(<45) BRHEET(<47) BRHEY
9 R RH R5.10.25 BRSO (EHh) BRHET(<L3.8) BRHEET(L3.1) BRHEY
10 AT R5.10.24 BRSO (EHh) BRHEE9(<3.2) 8.85 8.9
11 E=3= 1§ R5.10.23 [RARZH (FEih) BRHE3(<4.0) BRHEEI(<2.7) BREEY
12 E£AHH R5.10.23 FRARFELV=1T () BRHEE9(<7.9) BRHEE3(<L75) BREEY
13 EHEET R5.10.23 FREARFEL=1T () BRHE9(<6.1) BRHEEI(<47) BREEY
14 HET R5.10.23 [FROSTF=1T(FEHh) BHEET(<40) BHEEY(<36) BHEY
15 SEEEMET R5.10.23 BRUOST =T (FER) BHEEY(<3.9) BHEEY(<40) BHEY
16 HE™ R5.10.23 BEARBOYTE(+(FiHh) BRHE3(<55) BRHE9(<4.0) BREEY




BRERER

No b1 R A APlniESE i 1-134 t 9 L-137 EEE

Ba. kg Ba. kg Bqg. kg
17 1S HT R5.10.25 BERIFALDL (5EE%) BRHET(<5.2) BRHEET(LT) BHEY
18 tSHT R5.10.25 BERIFALDL (EE%) BRHET(L75) BRHE9(<6.9) BRHEY
19 =4~} R5.10.23 FAO(FEEH) BRHET(<3.0) BRHET(<34) BRHEY
20 s E ) R5.10.23 TS (BEHE) BRHEY(<6.1) BRHET(<45) g
21 FESEET R5.10.24 LEXAr(BEE) BRHE(<3.9) 9.17 9.2
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